
ا:
 

دوا ا: 
 

:خگویپا 90زمايقد 
 

:حصيل پایسا ده
                 

:د عنوما یا1: زمو یا6/03/1402
نضسذاسرویننووبسيصضيثضصوت

سوالدیف امتن

نید1 شخ  زر هابا تا ا ت

عا ا ش جمو )0=7-x8+2x4رر2-.ا

.  یا ندپر اعیا ز ک )ا
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نید ا  ا اا

) هم 1+x4-2x2.  ............... قط

. د  شا  ..............  مو  جا ا عا ی ز )

1

3. نید   زر ا عا

0=2–x7+2x4 (

1+x2

      = 1   (

1-x
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4. نید شخ  زر  بو ا و ا 
 

 
 1 9 
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(  7   ( f ( {72-(  )72= } )
  4 
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5ط1–x3=y{    2101–2-}xر ز و   
؟ 5/1نوسید

 فح  و 

محل
مر

آموزشگاه



نید6 شخ  زر ا ر ن

2
1

1- 2-
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7ط ا  f5( =1)f8( =2)f( قد ،6)f ؟ د د 25/1

8هم مو2-x4+2x=y؟ نید  
75/0

نید؟9 عر  زر یفا

 ):

: عا پاتر )
2

10صا تغیر و؟ نید شخ اطو  زر

: حصی ت )
): وز  

: و ر )
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ا:11 رر ا و  وز  اض  مر
19،18،7،18،19،17

)نید؟ سا وز   مر ر  یا  گییا

؟  اض   وز   ض یاگر ، و ا ا ز  د )
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و فح  و 








